oo eoF T =(0)

let /8: <'>‘ (?)E e bive bc\‘élﬁ) For Mg ranoye 5"\&

L) L) s macn fr )]

/3\’ (?)(;)% b@ 6 basg For tre domeain of T
P LI} b o besis for te range se
o 1. 80 =B, weee (o= (D), (5)7 L)) )
=18y _ §fY] L46f¢

[é) 80) é/() = /\'\Q\’KT),=<%\>

()7 ) D) .

T B 5.

= Mat(T) X Some ey = Sowee bninoy
i B! /\/3



let AB'= {(2) /;)E be « basis of e dowmai» oF T

tee 3 {( )% be « basis of Wwe TFasoe ofF T
(l“’“e()ﬁ: (3> ) ( ':6>*b/>>

)L o e 1
ORAREBRA o

O co~sder fx‘/l) +3(f’) 6o i Sta-dedd besis
) eo(s) = 5o(3) < <) > (3)-(5)

6 -—5 \ P

2 4% —2 :

5D 2 | T /f = B

‘{3 Met () 'x So_:we P}ﬂ“mc)
B e

- 60"‘-*6{’\/\}/'&‘3
|

- x + Y 1 j

e oo té é s th /3 |

to

Adord ]
i (xw)(’J ) [h\/”*\/z%)/O)
2-

- X4y 40
‘)('+§5 - 4\))

- (’364'\3

= 5
P

twe rove For

I



